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1. FERATE BriE R R SE N v 2 — (K TR EHE SR L 0 51H)
AR xR (‘C) PN ES
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7 £ A2 E=N R S B == = N ==
- il P P P A L I e T D A e
Fns24E| 10.5 | 32.4 | 8/ 4 | -15.8 | 3/4 | 2,093 57| 1/5 | 1,735 395 | 2/ 6| 11/23| 3/27 | 4/26
534E| 10.5 | 34.2 | 8/ 2 | -18.2 | 2/17] 2,234 85 | 6/26 | 1,654 386 | 2/23 | 12/5| 4/ 7 | 5/ 7
sa4E[ 1101 32.6 | 8/18 | -11.0 | 1/29 | 1,917 95 | 7/2 741 150 | 1/22 | 11/13| 4/21 | 4/23
554 9.8 | 30.5 | 8/14 | -10.4 | 3/19 ] 2,101 53 | 8/2 | 1,934 343 | 2/21 | 11/2 | 4/24 | 5/ 3
564E] 9.3 | 31.6 | 8/30 | -16.5 | 2/27| 2,232 118 | 8/23] 2,118 445 | 1/30 | 11/7| 4/ 2 | 5/ 9
5T4E[ 10.4 | 30.6 | 8/26 | -10.9 | 3/8 | 1,742 147 | 9/12 | 1,291 302 | 2/15| 11/24| 4/10 | 4/23
584E[ 10.1 | 31.4 | 8/15 | -11.6 | 2/14 | 2,437 113 | 9/28 | 1,805 312 | 2/14 | 11/17| 3/18 | 4/24
5OSE[ 9.2 | 32.7 | 8/16 | -15.2 | 2/12] 2,112 64 | 2/9 |2 293 458 | 3/13 | 11/27( 4/ 7 | 5/20
604| 10.4 | 33.9 | 8/14 | -15.6 | 1/19 ] 2,167 65 | 9/3 | 1,606 330 | 1/18 | 11/15| 3/31 | 4/23
6145 9.6 | 33.5 | 8/29 | -16.5 | 2/8 | 1,736 117 | 11/8 | 1,999 3658 | 2/ 7| 11/14| 4/11 | 5/ 5
624 10.7 | 32.9 | 7/16 | -11.5 | 2/2 | 1,254 33| 1/4 | 1,350 298 | 3/ 3| 11/24| 4/13 | 4/29
634 9.6 | 30.6 | 8/14 | -15.0 | 2/22 ] 2,148 69 | 8/25 | 1,458 302 | 2/17 | 11/ 3| 4/ 8 | 4/26
ErkoctEl 10.8 | 30.9 | 8/ 3 | -7.4 | 2/11 ) 1,077 57 | 9/19 527 122 1/ 5| 11/19| 3/31 | 4/ 2
24E[ 11.5 | 34.6 | 8/23 [ -12.0 | 1/21] 1,724 90 | 9/20 978 201 | 1/28 | 12/21| 4/ 7 | 4/ 8
34E| 10.6 | 31.3 | 8/29 | 9.9 | 2/23| 1,856 115 | 8/31 ] 1,332 261 | 2/ 9| 11/24| 4/ 2 | 4/20
44 10.1 | 32.3 | 8/25 | 8.7 | 1/16] 1,538 58 | 6/21 696 226 | 2/26 | 11/26| 3/21 | 4/16
54E[ 9.8 s1.8| 9/ 4| -9.7| 1/23] 2,010 79 | 8/27] 1,223 227 | 3/ 3| 11/24| 4/10 | 4/29
64E[ 11.2 | 34.9 | 8/14 | -9.6 | 3/7 | 1,446 71| 9/1 | 1,065 232 | 2/13 | 11/27| 4/ 8 | 4/23
74| 10.0( 32.8 | 7/24 | -10.4 | 3/3 | 2,092 64 | 7/11 | 1,714 302 | 2/22 | 11/9 | 4/ 2 | 4/28
8l 9.9 | 32.2 | 7/20 | -12.7 | 3/13] 1,802 84 | 7/23| 1,521 329 | 2/ 2| 11/13| 4/20 | 5/ 8
9| 10.8 | 34.4| 8/9 | -9.2| 2/19| 1,725 64 | 7/17 | 1,114 274 | 2/19 | 12/2 | 3/30 | 4/16
1048 11.7 | 32.7 | 7/27 | -11.0 | 1/30 | 1,977 139 | 9/16 783 190 | 2/ 1| 11/18] 4/ 2 | 4/10
14| 111 | 33.5| 8/ 9 |-12.5 | 2/5 | 1,723 78 | 9/15 ] 1,491 288 | 2/15 | 11/16| 4/ 8 | 4/24
1248 11.0 | 34.8 | 7/31 | -12.8 | 3/2 | 1,868 76 | 9/17 | 1,415 315 | 3/ 1| 11/18] 4/11 | 4/30
134 10.5 | 32.1 | 8/ 2|-1220| 2/9 | 1,786 67 | 7/15 | 1,690 323 | 3/11 | 11/27| 4/4 5/ 1
1448 11.0 | 33.4| 7/26 | -9.0 | 2/15 | 1,832 91 | 10/1 | 1,177 266 | 2/15 | 10/29| 4/6 | 4/12
1548 10.8 | 33.5 | 9/13 | -11.5 | 2/13 | 1,892 43 | 5/15 | 1,234 230 | 3/13 | 12/7 | 4/18 | 4/22
1648 11.6 | 35.0 | 8/19 | -10.9 | 2/8 | 1,923 121 | 10/20 | 1,157 218 | 2/16 | 12/6 | 3/23 | 4/15
1748 10.4 | 31.6 | 8/4 | -13.4 | 2/13 | 2,496 89 | 9/10 | 1,451 369 | 2/12 | 11/19 | 3/30 | 5/3
1848 10.6 | 33.9| 8/19 | -15.8 | 1/7 | 2,205 64 | 10/6 | 2,029 416 | 2/5 | 11/12 | 3/28 | 5/10
1948 11.2 | 34.1| 8/12 | -8.5 | 2/25 | 1,723 79 | 6/29 958 88 | 1/14 | 11/19 | 3/29 | 3/30
204 11.4 | 32.5 | 8/3 | -10.6 | 2/9 | 1,716 56 | 6/29 | 1,596 309 | 2/17 4/23
214 11.0 | 33.1 | 7/15 | -9.9 | 1/25 | 1,514 65 | 10/8 | 1,124 158 | 1/15 4/7
204 11,1 | 34.2 | 8/5 | -11.6 | 2/3 | 1,948 69 | 6/27 | 1,340 324 | 1/16 4/29
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2. AASR BAMA - TRRS A HEERME 2 —

ZE - 452m)

VR 224E
IR % 7k & |Besxmoss |6 escnoes |/ iscmo sy
S (nm) () () () B =
1A 338.5 -0.9 1.9 4.1 |RIEFES 324cm 1H16H
2 122.5 -0. 4 3.1 -4.1
160. 0 1.7 5.9 -1.8
4 100. 5 5.9 10.5 1.9 IREHEHE 4H29H
5 101.5 13.9 19.1 8.9
6 146. 0 19.8 24.5 15.5
7 257.0 23. 4 27.8 20. 0
8 74.5 25.8 30.6 22.0
9 169. 5 20. 4 24.5 17.2
10 143.5 14.1 17.9 10.9
11 99. 0 7.1 11.4 3.4 |#15FE  12H10H EHoBS6Ene)
12 235.0 2.7 6.4 -1.1 [REHH 12H15H
ERMF 1,947.5 133.5 183.6 88. 7
A 162. 2 11.1 15.3 7.3
BEF: [REGT T A X AHP
AR KELFHTE
4008 30.0°
300.0 20.0
200.0 100
100.0 0.0
00 g 2 3 4 5 6 7 8 9 10 1 12100
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